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MACRO ECONOMICS–I

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. 1 and 2  are compulsory.

Attempt remaining three questions by selecting one question each

from any of the three units out of the four units. All questions carry

equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1 vkSj 2 vfuok;Z gSA nh xbZ
pkj bdkb;ksa esa ls fdUgh rhu bdkb;ksa ls ,d&,d iz'u pqurs gq, 'ks"k
rhu iz'u dhft,A lHkh iz'uksa ds vad leku gSaA

Compulsory Question (vfuok;Z iz'u)

1. An economy produced goods of `500 core in a year which generates

factors income of `500 core. This Income is spent by the factors of production

on goods produced by the economy in a manner that no good is left unsold.

Based on this information, answer the following questions : 16

,d vFkZO;oLFkk ,d o"kZ esa `500 djksM+ dh oLrqvksa dk mRiknu djrh gS ftlls

`500 djksM+ dh lk/u vk; lftr gqbZA liw.kZ vk; vFkZO;oLFkk }kjk mRikfnr oLrqvksa
ij mRiknu ds lk/uksa }kjk bl izdkj ls [kpZ dh tkrh gS fd dksbZ Hkh oLrq fcuk
fcds uk cpsA

bl lwpuk ds vk/kj ij fuEefyf[kr iz'uksa ds mÙkj nhft,A

(i) On which law is the above study based? Explain it.

mijksDr vè;;u fdl fu;e ij vk/kfjr gS\ o.kZu dhft,A

(ii) Mention any four implications of this law.

bl fu;e ds dksbZ pkj fufgrkFkZ crkb,A

(iii) How would you interpret this law in context of modern times?

vki dSls bl fu;e dk vk/qfud le; ds lanHkZ esa O;Dr djsaxs\
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(iv) On what grounds was this law criticised?

fdu vk/kjksa ij] bl fu;e dh vkykspuk dh xbZ Fkh\

2. Choose the correct alternative : 5

mfpr fodYi pqfu, %

(i) According to Keynes, Money Performs the function of :

(a) Store of value. (b) Medium of exchange

(c) Both (a) and (b) (d) None of these.

dsUt ds vuqlkj] eqnzk dk;Z djrh gS %

(a) ewY; ds lap; dk (b) fofue; ds ekè;e dk

(c) nksuks a (a) vkSj (b) (d) buesa ls dksbZ ughaA

(ii) In the long run, when Income is zero, consumption will be :

(a) Equal to zero (b) Less than zero

(c) more than zero (d) None of these.

nh?kZdky esa] vk; ds 'kwU; gksus ij %

(a) 'kwU; ds cjkcj (b) 'kwU; ls de

(c) 'kwU; ls vf/d (d) buesa ls dksbZ ughaA

(iii) Flow in terms of goods and services is known as :

(a) Real flow (b) Monetary flow

(c) Circular flow (d) Inventory flow.

oLrq rFkk lsokvksa ds :i esa izokg dgykrk gS %

(a) okLrfod izokg (b) ekSfnzd izokg

(c) pØh; izokg (d) eky&lwph izokgA

(iv) Gross investment in the sum of net investment and :

(a) Replacement Investment (b) Voluntary Investment

(c) Planned Investment (d) Induced Investment.



ldy fuos'k tksM gksrk gS 'kq¼ fuos'k RkFkk %

(a) iquLFkkZiu fuos'k dk (b) fu;ksftr fuos'k dk

(c) ,fPNd fuos'k dk (d) izsfjr fuos'k dkA

(v) Which of the following does not come under the scope of  macro-

economics :

(a) Inflation (b) Partial

(c) Growth and development (d) Monetary policy.

fuEufyf[kr esa D;k lef"V vFkZ'kkL=k esa ugh vkrk %

(a) eqnzkLiQhfr (b) vkaf'kd larqyu

(c) o`f¼ vkSj fodkl (d) ekSfnzd uhfrA

(vi) Match the following with their correct answer : 5

1. Real investment Public investment

2. Welfare of the people Motivation to Increase Investment

3. Inducement to invest Increase in Capital stock

4. Net investment Greater private investment

5. MEC > r Net Capital formation.

fuEufyf[kr dk muds lgh mÙkj ls feyku dhft, %

1. okLrfod fuos'k lkoZtfud fuos'k

2. yksxks dk dY;k.k fuos'k esa o`f¼ djus dh izsj.kk

3. fuos'k izsj.kk iwath LVkWd esa o`f¼

4. 'kq¼ fuos'k T;knk futh fuos'k

5. MEC > r 'kq¼ iwath fuekZ.kA

(vii) Answer the following questions : 6

(a) Define full employment according to classical theory.

(b) What is meant by Leakages in circular flow of Income?

(c) What is Supply price?
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fuEufyf[kr iz'uksa ds mÙkj nhft, %

(a) iw.kZ jkstxkj dks iajijkoknh fl¼kar ds vuqlkj ifjHkkf"krA

(b) vk; ds pØh; izokg es okilh ls vki D;k le>rs gSa\

(c) iw£r dher D;k gS\

UNIT–I  (bdkbZ–I)

3. Explain the circular flow of Income and product in a four sector model.

16

pkj {ks=kh; ekWMy esa vk; vkSj mRikn ds pØh; izokg dh O;k[;k dhft,A

4. Explain the value added method of measurement of National Income 16

jk"Vªh; vk; dh ekius dh ewY; o`f¼ fof/ dh O;k[;k dhft,A

UNIT–II  (bdkbZ–II)

5. Explain the classical theory of employment. What are the weak points of

this theory? 16

jkstxkj ds ijaijkoknh fl¼kar dh O;k[;k dhft,A bl fl¼kar dh eq[; dfe;k¡
D;k gSa\

6. Explain how equilibrium GDP and price level are determined in an economy.

16

,d vFkZO;oLFkk esa larqfyr GDP ,oa dheu Lrj dSls fu/kZfjr gksrk gS\ O;k[;k
dhft,A

UNIT–III  (bdkbZ–III)

7. What is a consumption function? Explain the concept and technical attributes

of marginal propensity to consume (MPS) and average propensity to consume

(APS). 16

miHkksx iQyu D;k gS\ lhekar miHkksx izo`fÙk (MPS) vkSj vkSlr miHkksx izo`fÙk
(APS) dh /kj.kk vkSj rduhdh fo'ks"krkvksa dh O;k[;k dhft,A

8. Define propensity to consume. Explain the measures which can raise propensity

to consume. 16

miHkksx izo`fÙk dks ifjHkkf"kr dhft,A mu mik;ksa dh O;k[;k dhft, ftUgsa
viukus ls blesa o`f¼ gksrh gSA
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UNIT–IV  (bdkbZ–IV)

9. What is meant by Investment? Discuss the main types of investment. 16

fuos'k ls D;k vfHkizk; gS\ blds egRoiw.kZ izdkjksa dh O;k[;k dhft,A

10. Discuss the concept of Marginal Efficiency of Capital. What are the factors

affecting inducement to invest? 16

iw¡th dh lhekr dq'kyrk dh /kj.kk dh O;k[;k dhft,A fuos'k izsj.kk dks
izHkkfor djus okys dkjd D;k gSa\
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